IRIBHE BHRZ17—23 P1
TR 304E3H278
th R IE BT - KER RS

BREREEROSHLE
FR30FEIA27TBFRIIBNLCHR -BABLEOEBEHRAETFTVELI-OT. BREZEHOEBLE

o

;iR
BROIEBEIL, KB17~18°C. 1E531~34, B7TFHEEET~10mg/ITLT=,
BHAEIL2~5mT, FEEOI/OT(=H LR oA/ TALERShELT -,

KaLiEn (F1-2)
JKi@16.6~17.6°C, #§5331.4~338TL 1=,
{;ﬂ@?giﬁ#(Hw.Z.Z?)kttﬁiL’C. KiBIZLRBT30~34CLERLELI-, BN ITLET0.9~2.1
TLELT=,

BHEREE (X3)
BFBREET1~104mg/ITLT=,
ATEFAERE (H30.227)E LB LT, AFHREEIIREHNS5mEBET0.1~0.3mg/IIEML . 10mEH
SERE T0.6~1.3mg/lIEALELT=,

5902 (%4-5)
BHAEIX1.5~45mTLT=,
BREBOFER. AFEO/OT =Y LKD) AT AHERE Tlcells/mifERINELT=,

BORERDKEICEEOTRERLIE L, LESARYMRMLEE ITBKERERLT, R
RFRIEB A E = ITKERBRIEFE TITERZSLN,

75" ‘

>

&Emm
\.7/";’ N = ARRENETINIMNEE
HLZT7 EXEM
BB~ Fcells/mI (BEEDALVIE)
27 TFLESURYS LR

500(HTH5) ~cells/m (EDFHFL)
} AOATF4= DL ARYH)ALT R
EDE in? #H ~ 1,000cells/m| (FAEED~UVFE)




P2

FRE304E3H27H
F1_KiE(°C)
I il A2 (H30.2.27)
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Om 174 17.3 17.6 17.3 17.4 14.1 3.3 17.6
2m 17.5 17.3 17.4 17.3 17.4 14.0 34 17.1
5m 17.2 17.2 17.3 17.1 17.2 14.0 3.2 17.0
10m 16.6 16.9 17.1 17.0 16.9 13.9 3.0 17.0
B-1m 16.6 16.9 17.0 16.8 16.8 13.7 3.1“ 17.0
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ISR | RIS | BOHE | A5 | ST o [MEEOE| TiBE
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Om 32.7 328 325 314 32.6 34.7 A 21 31.1
2m 32.7 32.9 33.0 32.6 32.9 34.7 A 18 326
5m 33.3 33.2 334 33.2 33.3 34.7 A 14 33.1
10m 334 33.5 33.7 33.6 33.5 34.7 A 12 335
B-1m 33.6 33.8 33.8 33.6 33.7 34.6 A 0.9 33.5
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WERS | BRTA | BOH | #H5Y | p | RETXe o [MEEOE | Hi5ET
N ~ | 5 [Bl—HiE
Om 9.3 9.5 9.0 9.7 9.3 9.1 0.2 9.5
2m 9.5 9.9 9.2 104 95 9.2 0.3 10.0
5m 9.8 9.6 8.6 10.0 9.3 9.2 0.1 9.5
10m 8.7 8.6 7.9 8.2 8.4 9.0 A 06 8.4
B-1m 7.1 7.6 7.7 7.3 7.5 8.8 A 13 7.9
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ﬁi;ﬁ}# 17.0 244 15.0 16.0 12.3
125 B4 3.5 3.0 45 2.5 1.5
[ATEI(1/29) 8.0 9.0 7.5 10.5 8.5
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g | Ui Ry | s | EEMEE
Om 0 0 0 0 900
BRI A 2m 0 0 0 0 1,200
5m 0 0 0 0 1,100
Om 0 0 0 0 2,600
BEo&s 2m 0 0 0 0 1,700
5m 0 0 0 0 900
Om 0 0 0 0 1,200
S50 2m 0 0 0 0 2,000
5m 0 0 0 0 600
= s T 0 0 0 0 1,700
’*'ﬂx’{iﬂfu"" 2m 0 0 0 1 2,400
5m 0 0 4 0 1,400
Om 0 0 0 0 1,800
TS AT 2m 0 0 0 0 500
5m 0 0 0 0 400
Om 0 0 0 0 1400
= Pi=3 2m [0} 0 0 0 900
5m 0 0 0 0 1200




